Unit 1 Review
SHOW ALL YOUR WORK!

NO NAKED NUMBERS!

3 SIGNIFICANT FIGURES!

Record how many sig figs are in the following:

1. 0.003

2. 1.003

3. 8000000

4. 6.13 E25
Convert the following into scientific notation with 3 sig figs.
5. 23554500  g
6. 2867 m
7. 0.00000987452 s
8. 0.0952999 oC

PROPERTIES OF ELEMENTS

	
	Enthalpy of Fusion
	Density (g/cm3)
	Atomic Number

	Aluminum
	10.71
	2.699
	13

	Gold
	12.4
	19.32
	79

	Silver
	11.65
	10.49
	47

	Lead
	4.77
	11.34
	82

	Nickel
	17.15
	8.908
	28


A student finds the densities of aluminum and nickel. Use the table above to find the accepted values and determine the student’s percent error for #9-10.

9. Aluminum: 2.74 g/mL
10. Nickel: 9.10 g/cm3
11. An object with a mass of 13.02 g raises the level of water in a graduated cylinder from 50 mL to 55 mL. What is the density of the object?  Hint: D = m/v

Round each figure to THREE significant figures

12. 431801 kg
13. 0.000002148 s
14. 10235.0 m
15. 0.0095785241 mL
Calculate the following and round the answers to 3 significant figures

16. 4.0 x 10ˉ¹ kg + 6.2 x 10ˉ¹ kg

17. 4.0 x 103 g - 6.2 x 104 g​​​
18. 2.61 E5 m x 1.99 E2 m  
19. 9.99 E14 L /  1.11 E7 L
20. How do you determine accuracy?

21. How do you determine precision?

22. Review accuracy/precision lab (rotten rulers), measure lab (%error), density lab (mystery metals). 
1. 1
2. 4

3. 1

4. 3

5. 2.36  E7 g

6. 2.87 E3 m

7. 9.87 E-6 s

8. 9.53 E-2 oC

	Problem #

9. 
	Basic Equation
 M-A/A x 100
	Working Equation
M-A/A x 100

	Given variables 
A = 2.699 g/mL

M= 2.74 g/mL
	Solve
2.74g/mL – 2.699 g/mL / 2.699 g/mL x 100

	Answer

· 3 Sig figs                            1.52 % Error
· Sci Not. ≥ 1000

· Units


	Problem #

10. 
	Basic Equation
 M-A/A x 100
	Working Equation
M-A/A x 100

	Given variables 
A = 8.908 g/mL

M= 9.10 g/mL
	Solve
9.10 g/mL – 8.908 g/mL / 8.908 g/mL x 100

	Answer

· 3 Sig figs                            2.16 % Error
· Sci Not. ≥ 1000

· Units


	Problem #

11. 
	Basic Equation
 D = m/V
	Working Equation
D = m/V

	Given variables 
m = 13.02 g

V= 5.00 mL
	Solve
D= 13.02g/5.00mL

	Answer

· 3 Sig figs                            2.60g/mL
· Sci Not. ≥ 1000

· Units


12.  4.32 E5 kg
13. 2.15 E-6 s

14. 1.02 E4 m

15. 9.58 E-3 mL

16. 1.02 kg

17. -5.80 E4 g

18. 5.19 E7 m2
19. 9.00 E7 

20. Whichever average is closest to the actual

21. Whichever range is the smallest

